
中２数学Ｂ ２０１９年度１学期 宿題解答 

§１ 展開・因数分解 

 
Ｈ１.１ 

(1)          96 98 2 24 3 32 4 6 7 2 62 32 4 2  
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(2)           12 18 21 2 3 2 21 6 3 2 3 7 6 3 143 18 14  

(3)  


 


  

3 5

3

5 2 3 60 5 2 3 2 15
3 5 515 153 5

 

 
     

15 2 15 2 15 5 15 6 15 2 15 9 15 3 15
3 5 15 15 15

5 2 3 60
3 155 5
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Ｈ１.２ 

(1) 2 2 2 2( 2 )(2 3 ) 2 3 4 6 2 6a b a b a ab ab b a ab b          

(2)        2 2 2 2( 2 )( 2 ) 2 2 4 4a b a b a ab ab b a b  

(3)         2 2( 2)( 4) 4 2 8 6 8x x x x x x x  

(4) 22 2( 6) ( 6)( 6) 6 6 36 12 36x x x x x x x x            

(5)   2 6 2 3 2 2 6 2 6 3 2 2 6          

(6)     2

2 3 2 3 2 3 2 6 6 3 5 2 6           

 
 
 



 

Ｈ１.３ 

(1)     2( 2)( 3 ) 5 6x x x x  

(2) 2( ( 1) )( ( 8) ) 9 8x x x x        

(3) 2( 3 )( ( 15) ) 12 45x x x x       

(4) 2( ( 6) )( 9 ) 3 54x x x x       

(5) 2(3 1)( 1 ( 2) ) 3 ( 5) 2x x x x        

(6) 2(2 3)( 2 ( 5) ) 4 ( 4) 15x x x x        

 
 

Ｈ１.４ 
     4 3 2 2( 1)(3 2 1)x x x x x x を展開したときの 4x の項は 

 
4 3 2 2 44 4 42 3 2 61 3x x x x x xx x x        

であり、その係数は 6 である。 
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